

$$x = e^u + u \sin v$$

$$y = e^u - u \cos v$$

$$u(x, y)$$

$$v(x, y)$$

$$\frac{\partial u}{\partial x}(\Delta)$$

$$\frac{\partial v}{\partial x}(\Delta)$$

$$[\bar{x}, \bar{y}, \bar{u}, \bar{v}] = [e+1, e, 1, \frac{\pi}{2}] = \Delta$$

$$F_1 = e^u + u \sin v - x$$

$$\begin{aligned} (x, y) &= \bar{x} \\ (u, v) &= \bar{u} \end{aligned}$$

$$F_2 = e^u - u \cos v - y$$

$$F = (F_1, F_2) \quad F: \mathbb{R}^4 \rightarrow \mathbb{R}^2$$

$$\mathbb{R}^{2+2} \rightarrow \mathbb{R}^2$$

$$F \in C^1(\mathbb{R}^4)$$

$$\downarrow$$

$$G = \mathbb{R}^4$$

$$F_1(\Delta) = e^1 + 1 \sin \frac{\pi}{2} - (e+1) = 0$$

$$F_2(\Delta) = e^1 - 1 \cos \frac{\pi}{2} - e = 0$$

$$\frac{\partial F_1}{\partial u}$$

$$\frac{\partial F_1}{\partial v}$$

$$\begin{pmatrix} e^u + \sin v & u \cos v \\ e^u - \cos v & + u \sin v \end{pmatrix}$$

$$\frac{\partial F_2}{\partial u}$$

$$\frac{\partial F_2}{\partial v}$$

dosadimo A

$$\begin{pmatrix} e+1 \\ e-0 \end{pmatrix}$$

$$\begin{pmatrix} 0 \\ 1 \cos^2 \frac{\pi}{2} \\ 1 \end{pmatrix} =$$

$$= e+1 \neq 0$$

😊

$$\frac{\partial F_1}{\partial x}$$

$$\frac{\partial F_2}{\partial x}$$

$u(x, y)$

$$x = e^u + u \cdot \sin v$$

$$y = e^u - u \cdot \cos v$$

$\partial x:$ $\sim \Delta$ $\ddot{\sim}$

(u, v)

$$\frac{\partial f}{\partial u} \cdot \frac{\partial u}{\partial x} + \frac{\partial f}{\partial v} \cdot \frac{\partial v}{\partial x}$$

$$1 = e^u \cdot \frac{\partial u}{\partial x} + \left(1 \cdot \sin v \cdot \frac{\partial u}{\partial x} + u \cdot \cos v \cdot \frac{\partial v}{\partial x} \right)$$

$$0 = e^u \cdot \frac{\partial u}{\partial x} - \left(\cos v \cdot \frac{\partial u}{\partial x} + u(-\sin v) \cdot \frac{\partial v}{\partial x} \right)$$

$$\left[e+1, e, 1, \frac{u}{v} \right]$$

$$1 = e \cdot \frac{\partial u}{\partial x} + \frac{\partial u}{\partial x} + 0$$

$$\frac{\partial u}{\partial x} = \frac{1}{1+e}$$

$$0 = e \cdot \frac{\partial u}{\partial x} - \left(0 - 1 \cdot 1 \cdot \frac{\partial v}{\partial x} \right)$$

$$\frac{\partial v}{\partial x} = -e \frac{\partial u}{\partial x}$$

$$\frac{\partial v}{\partial x} = \frac{-e}{1+e}$$

$$e^{\frac{u}{x}} \cos \frac{\sqrt{u}}{\sqrt{x}} = \frac{x}{\sqrt{2}}$$

$$e^{\frac{u}{x}} \sin \frac{\sqrt{u}}{\sqrt{x}} = \frac{4}{\sqrt{2}}$$

pede x

$$e^{\frac{u}{x}} \left(\frac{\frac{u}{x}}{\frac{\partial}{\partial x}} \right) \cos \frac{\sqrt{u}}{\sqrt{x}} + e^{\frac{u}{x}} \frac{\partial \cos \frac{\sqrt{u}}{\sqrt{x}}}{\partial x} = \frac{1}{\sqrt{2}}$$

$$\left(\frac{\frac{\partial u}{\partial x} \cdot x - u \cdot 1}{x^2} \right)$$

$$\left(-\sin \left(\frac{\sqrt{u}}{\sqrt{x}} \right) \cdot \frac{1}{\sqrt{x}} \frac{\partial \sqrt{u}}{\partial x} \right)$$

$$e^{\frac{u}{x}} \left(\frac{\frac{\partial u}{\partial x}}{\frac{\partial}{\partial x}} \right) \sin \frac{\sqrt{u}}{\sqrt{x}} + e^{\frac{u}{x}} \cos \frac{\sqrt{u}}{\sqrt{x}} \cdot \left(\frac{\partial \sqrt{u}}{\partial x} \right) = 0$$

$$\frac{\frac{\partial u}{\partial x} \cdot x - u \cdot 1}{x^2}$$

$$\frac{1}{\sqrt{x}} \frac{\partial \sqrt{u}}{\partial x}$$